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1Volcanoes are commonly found:  

a) near canyons.

b) where land masses on two different plates come together.

c) above hot spots.

d) on land, but never beneath the ocean surface.

e) in the Southern Hemisphere and only rarely in the Northern Hemisphere.

2The scale typically used by seismologists to measure the magnitude of an earthquake is the: 

a) Richter scale.

b) subduction scale.

c) earthquake scale.

d) moment.
magnitude scale.

e) seismologist’s earth movement indicator scale.

3What is the relationship between locations of earthquakes and plate tectonics?

a) Earthquakes frequently happen where landmasses are on the boundary between two plates.

b) Earthquakes release energy as seismic waves.  Energy accumulates from the push and stretch of rocks as plates move horizontally across Earth’s surface.

c) Earthquakes occur along faults.  Fault zones are often found at plate boundaries.

d) Earthquakes are common in volcanic regions.  Volcanoes are common where two plates meet.

e) All of the above constitute a relationship between earthquakes and plate tectonics.

4. Elements or groupings of elements that occur naturally in the Earth's crust are called:

a) atoms.

b) ores.

c) minerals.

d) metals.

e) compounds.

5A rock that contains a large enough concentration of a particular mineral to profitably mine and extract it is called a/an:

a) atom.

b) slag.

c) metal.

d) ore.

e) compound.

6. Subsurface mining may be accomplished using:

a) shaft mining

b) open-pit mining

c) slope mining

d) strip mining

e) A and C

7Which of the following is not a characteristic of metals?

a) all are relatively abundant in the Earth's crust

b) lustrous

c) good conductor of electricity

d) good conductor of heat

e) malleable

.8 The environmental impact in the Copper Basin, Tennessee region involved all of the following except:

a) destruction of nearby aquatic communities.

b) deforestation.

c) acid precipitation.

d) soil erosion.

e) None of the above, all occurred in the Copper Basin area.

9All of the following statements are TRUE except:

a) Examples of nonmetallic minerals include phosphates, salt, and sand.

b) Subsurface mining disturbs the land less than surface mining.

c) Highly developed nations still have large mineral reserves within their boundaries.

d) Many developing countries lack any significant mineral deposits.

e) One of the most significant economic factors in mineral production is the associated energy cost.

. 10Soil is formed from parent material by biological, chemical, and physical:

a) digestion processes.

b) weathering processes.

c) composting.

d) terracing.

e) leaching.

12In soil formation, the parent material provides:

a) humus.

b) minerals.

c) water-holding capacity.

d) mycorrhizae.

e) detritus.

13Soil is composed of:

a) mineral particles.

b) organic materials.

c) air.

d) water.

e) All of the above

14Humus is composed of:

a) weathered rocks.

b) glacial debris.

c) iron and aluminum compounds.

d) decaying organic matter.

e) various inorganic minerals.

15The removal of dissolved minerals from the soil as water moves downward is called:

a) topography.

b) leaching.

c) deposition.

d) decomposition.

e) weathering.

16The uppermost layer of soil that is rich in organic material is the:

a) A horizon.

b) B horizon.

c) C horizon.

d) O horizon.

e) E horizon.

17The soil layer that accumulates leached nutrients and minerals is:

a) A horizon.

b) B horizon.

c) C horizon.

d) O horizon.

e) E horizon.

19Topsoil is lost annually (soil erosion), primarily due to:

a) poor agricultural practices.

b) global warming.

c) ozone depletion.

d) the soil rustler's black market.

e) conservation tillage.

. 20The use of conventional tillage causes soil loss mainly because it:

a)  levels and compacts soil.

b) runs furrows along the natural contours of the land.

c) covers seeds.

d) removes plant cover.

e) None of the above

. 21A major problem with conservation tillage is:

a) the soil becomes compact.

b) soil erosion increases.

c) it increases insect populations.

d) it requires greater use of herbicides to control weeds.

e) the soil contains less organic matter.

22Planting the same crop year after year:

a) increases damage by insects and disease.

b) decreases soil erosion.

c) does not deplete essential nutrients from the soil.

d) will slowly increase crop yields.

e) is a new and innovative agricultural practice.

.23 Increased soil erosion may be caused by all of the following except:

a) construction of buildings.

b) construction of roads.

c) construction of shelterbelts.

d) clearcutting large forested areas.

e) agriculture.

24Soil erosion:

a) may result in decreased water quality for fishes and other aquatic organisms.

b) does not reduce the fertility of the soil, just the quantity.

c) is exclusively linked to human activities.

d) is not affected by the extent of plant cover.

e) is never responsible for or related to water pollution.

. 25Soil erosion is primarily attributed to:

a) wildfires, surplus soil organisms and dense vegetation.

b) poor agricultural practices, overgrazing and deforestation.

c) erosion, excessive tillage and coastal location.

d) exhaustion of parent material, severe climate and leaching.

e) heavy rainfall, agroforestry and crop rotation.

26Crop rotation and strip cropping alternate crops such as corn and wheat. The difference is:

a) In strip cropping, the crops are alternated by size. In crop rotation, the crops are alternated by color.

b) In strip cropping, one crop is exposed and the other covered.  In crop rotation, dual crops form concentric circles.

c) In strip cropping, one crop transforms into the other by genetic seed manipulation. In crop rotation, each crop is alternated according to the type of pollinator required.

d) In strip cropping, the crops are alternated by row.  In crop rotation, the crops are alternated by years.

e) There is no difference.  Crop rotation is another word for strip cropping.

27People might receive enough calories in their diets but still be malnourished if they don’t receive enough

a) protein

b) vitamin A

c) iron

d) iodine

e) All of the above

28The two areas of the world with the greatest food insecurity are:

a) South America and South Asia.

b)  South America and sub-Saharan Africa.

c) China and sub-Saharan Africa.

d) South Asia and sub-Saharan Africa.

e) the Middle East and South Asia.

29The quantity of various grains remaining from previous harvests is known as:

a) subsistence agriculture.

b) food security.

c) world grain carryover stocks.

d) yield.

e) organic farming surplus.

30The main cause of undernutrition and malnutrition is:

a) poverty.

b) inadequate global food production.

c) polyculture.

d) decreasing livestock yields.

e) organic farming practices.

31The most common foods eaten in the world today are:

a) corn (maize), rice, sweet potato, and wheat.

b) barley, corn, rice, and wheat.

c) corn, rice, and wheat.

d) cassava, potato, rice, and wheat.

e) corn, potato, soybean, and rice.

32The decline in genetic diversity within a given variety of crop plant results in loss of:

a) color variations.

b) flavor differences.

c) nutritional differences.

d) size variations.

e) All of the above

. 33Which of the following crops has been significantly improved by the green revolution?

a) beets

b) wheat

c) sweet potatoes

d) rice

e) B and D

34Which of the following is/are currently used to increase livestock yields?

a) maintaining a wide variety of genetically diverse livestock

b) using genetically engineered foodstuffs

c) implementing integrated pest management

d) administering antibiotics and hormones

e) increasing use of nomadic herding

35Which of the following statements about organic food production is true?

a) Organic farming has allowed U.S. agriculture to become the most efficient and productive in the world.

b) It may involve the use of antibiotics and hormones for livestock, as long as no chemicals are added to crops.

c) Organic farms use no pesticides, instead they rely on alternative pest management.

d) The soil is fertilized with commercial inorganic fertilizer, with the use of cover crops every fourth year.

e) Organic farms must be kept insect-free to allow for the crops to survive without the use of pesticides.

36Sustainable agricultural practices are characterized by all of the following except:

a) crop selection.

b) water and energy conservation.

c) monoculture.

d) use of manure as a fertilizer.

e) increasing biological diversity to control pest

37An individual who is undernourished:
a) probably consumes excess fats and/or sugar.

b) is unlikely to contract marasmus since it must be inherited from at least one parent.

c) receives fewer calories than needed for an extended period of time.

d) has an adequate calorie intake, but is missing essential nutrients such as minerals or vitamins.

e) is one of an estimated 50 million children under age six who are undernourished.

38The long-term solution to the food supply problem is to:

a) control human population growth.

b) expand organic farming.

c) implement the use of genetically engineered crops and livestock.

d) develop and then utilize genetically diverse varieties of various crops.

e) expand energy-intensive agricultural methods that produce high yields of food.

39Using the figure below, which of the following years is matched with the correct value (number of days) for world grain carryover stocks?
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a) 1975;  80 days

b) 1980;  60 days

c) 1985;  85 days

d) 1990;  80 days

e) 1995;  75 days

40Two main reasons that the world grain carryover stocks have dropped in the past few years are:

a) increased consumption of animal products.

b) wars (conflicts) and political unrest.

c) increased disease (e.g. AIDS) and bad weather.

d) bad weather and wars.

e) lower grain prices and political unrest.
41Which of the following is not a long-term solution to world food problems?

a) overcome cultural barriers to the acceptance of different types of food

b) increase the sustainable production of food

c) assist overall economic development

d) stabilize populations at sustainable levels

e) increase dependence on energy-intensive, high-yield agricultural methods

42Livestock is an expensive source of food because:

a) it is particularly rich in protein.

b) of the amount of land area needed to house the animals.

c) the antibiotics and hormones needed to support high yield are exceedingly expensive.

d) it is the preferred food source in many developing countries.

e) animals are feed large amounts of grain.

Use the data provided in the table below to determine the percent increase in U.S. wheat yield per acre from 1960 to 2000:

	Year
	Yield (bushels per acre)

	1950
	16.5

	1960
	26.1

	1970
	31.0

	1980
	33.5

	1990
	39.5

	2000
	42.0


a) approximately 50%.

b) approximately 75%.

c) approximately 100%.

d) approximately 150%.

e) approximately 200%.
43Concern over the routine use of antibiotics in raising livestock centers around:

a) the potential that bacterial resistance to antibiotics may increase as a result.

b) violations of U.S. government policy that prohibits their indiscriminate use in livestock.

c) the fact that the antibiotics may be toxic to small children.

d) a tentative link between antibiotics and cancer.

e) the excessively high concentrations of chemicals that are then found in the meat products.

44Which of the following statements about sustainable agriculture is false?

a) An important goal of sustainable agriculture is to preserve the quality of the agricultural soil.

b) Sustainable agriculture methods are less damaging to the environment, but have higher associated costs.

c) Sustainable agriculture relies on beneficial biological processes and environmentally friendly chemicals.

d) Sustainable agriculture involves diversification of crops and livestock.

e) Sustainable agriculture is also known as alternative or low-input agriculture.

45All of the following are subsistence agriculture practices except:

a)  shifting cultivation.

b) slash-and-burn agriculture.

c) nomadic herding.

d) intercropping.

e) high-input.

46A pesticide used to kill plants is a/an:

a) fungicide.

b) herbicide.

c) insecticide.

d) botanical.

e) rodenticide.

47DDT is a/an:

a) organophosphate.

b) carbamate.

c) insecticide.

d) inorganic compound.

e) narrow-spectrum pesticide.

48Pesticides are effective:

a) at reducing crop productivity due to competition with weeds.

b) for controlling some organisms that cause diseases in humans.

c) at increasing the amount of crop damage due to insects.

d) at controlling insects and weeds, but ineffective against plant pathogens.

e) at increasing the farmer's cost for a particular crop.

49One problem associated with pesticides is that they:

a) do not stay where they are applied.

b) tend to move through water and soil.

c) may move great distances from the point of application.

d) can be transported through the atmosphere.

e) All of the above.

50Using the associated figure, what was the effect of reduced pesticide use on the productivity of rice paddies?
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a) Rice production fluctuated but with no real change.

b) Rice production increased.

c) Rice production increased and then declined dramatically.

d) Rice production decreased.

e) Rice production decreased and then increased dramatically.

51Which of the following is not an integrated pest management technique?

a) quarantine

b) biological controls

c) irradiation

d) crop rotation

e) calendar spraying

52Long lines formed at filling stations in the 1970s due to which of the following:

a) Persian Gulf War

b) OPEC oil embargo

c) Exxon Valdez oil spill

d) establishment of the Strategic Petroleum Reserves

e) Iranian revolution

. 53The energy consumption of each person in highly developed countries

a) is about the same as each person in developing countries

b) is twice as much as each person in developing countries

c) is four times as much as each person in developing countries

d) is eight times as much as each person in developing countries

e) cannot be compared because people in  developing countries don’t use energy

54Most energy in the United States is used for

a) motor vehicles

b) industries

c) buildings

d) agriculture

e) trains

55Which of these fossil fuels is composed primarily of methane?

a) oil

b) natural gas

c) coal

d) tar sands

e) lignite

56Combustion of which of these fossil fuels is/are linked to global warming?

a) oil

b) natural gas

c) coal

d) methane

e) All of the above

57Which fossil fuel reserves will most likely last the longest?

a) oil

b) natural gas

c) coal

d) peat

e) uranium

58Which fossil fuel is most abundant in North America?

a) oil

b) natural gas

c) uranium

d) coal

e) peat

59The world’s coal reserves could last for possibly another:

a) 20 years

b) 50 years

c) 100 years

d) 200 years

e) 500 years

60The world’s coal reserves could last for possibly another:

a) 20 years

b) 50 years

c) 100 years

d) 200 years

e) 500 years

61Scrubbers in smoke stacks remove large amounts of what major air pollutant?

a) carbon dioxide

b) sulfur oxides

c) nitric acid

d) sodium oxides

e) mercury

62The concern about global warming is directly related to increased levels of what chemical in the atmosphere?

a) mercury

b) carbon dioxide

c) sulfur oxide

d) nitrogen oxide

e) chlorofluorocarbon
63According to this pie chart, which industry accounts for the lowest energy consumption?
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a) paper

b) fossil fuels

c) food

d) metals

e) chemicals
. 

64Today the world’s main energy source is

a) coal

b) hydroelectric

c) natural gas

d) nuclear

e) oil

65The greatest increase in worldwide energy consumption in the last few years is related to:

a) American fascination with driving SUVs

b) Economic development in China and India

c) Use of fertilizers and pesticides in agriculture

d) Increase in population in Africa

e) Global warming

66The major reason that global energy consumption is increasing is that:

a) energy prices keep falling

b) developing countries are using more energy as they improve their standard of living

c) the world’s population growth is slowing

d) global energy reserves are increasing

e) farmers in developing countries depend on the energy of animals for plowing and other work

67Based on the figure below, which region of the world has the third-largest oil deposits?
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a) North America

b) Africa

c) Asia and Oceania

d) East Europe and former U.S.S.R.

e) South and Central America

68All of the following statements are true about surface mining except
a) It accounts for 60% of the coal mined in the United States

b) It is also known as strip mining

c) It is generally safer for miners than other coal mining processes

d) It is a less expensive mining process than subsurface mining

e) It is the most hazardous type of mining for workers

69Which of the following fuels produces the greatest quantity of CO2 per unit of heat 

energy produced?

a) methane

b) natural gas

c) coal

d) oil

e)wood

70It is hypothesized that undiscovered large oil deposits are located

a) below ocean basin trenches

b) under the continental shelves

c) in locations where natural gas will not be found

d) in the continental United States

e) in locations where volcanoes are common

71One of the most destructive types of surface mining for the land itself 

a) is mountaintop removal using a dragline

b) is associated with the increased risk of black-lung disease in miners

c) is regulated by the guidelines of the 1977 Surface Mining and Reclamation Act

d) is most common in the western United States

e) involves replacement of the overburden that is first removed

72The most abundant isotope of uranium in ore is:

a) C-12.

b) U-234.

c) U-235.

d) U-238.

e) PU-239.
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